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1142/Arts
I Year Arts Examination, 2016

MATHEMATICS
Paper—I1
(Calculus)

Tiine : Three Hours
Maximum Marks : 100

PART - A (QUS-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
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PART - B (@us-9) [Marks : 50

Answer five questions (250 words each).
‘ 'Selecting one from each unit. All questions carry equal marks.
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qee W9 S ST 250 WAl § Y 7 B

[t WAl % ik T €
PART - C (@U=s-9H) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks.
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PART - A

- (@|us-3r)
UNIT - I
(FFE-1)

1. (i)  Write the formula for length of the perpendlcular from _

pole to the tangent.
@awﬁwm@mﬁw%mxﬁm{
(ii)  Write the statement of fhe Tay’lor'é theorgm.
TR sn?m T TR %rF@@r |
UNIT- T
(3=rE-11)
(iii) Define oblique Asymptgte.

foreder o waeff =8t afemmer S
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(iv) Write the formula for radius of curvature at the origin.

T forg W sk o =1 9 fafaa

UNIT - 10
(get3-100)

(v) Write Gamma formula for definite integral

L%sin”’ Bcos"8d O

fofier gwTee L%sin’"é?cos"Hdé? =1 T g fafEe)

( vi)  Define rectification.

=Y Shedd st giReTsT s
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UNIT -1V
(3FE-1IV)
(vii) Write the form of the Bernoulli's equation.

AT TR 1 e fafEy |

( viii ) Write the necessary and sufficient condition for the

differential equation Mdx + Ndy = 0 to be exact.

SR FHIRT Mdx + Ndy = 0 = =1emef s1aeet qeleco
B % T STraveres wd wate ey fafew

UNIT -V
(Famé-v)
(ix) Write the general form of élairaut's equation.
FARBE wﬁmur =1 =19 & fafEn | .
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(x) Write the cornpleméntary function of the following

equation :

( y
ax’ dx*

PART - B
(Eus-w1)

UNIT - I
(SHTE-1)

7 ' Eoa ; 2 &
2. Show that the pedal equation of the ellipse :_2+y_2=1 is
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3. AState and prove the Taylor's theorem.
TR YA H W fora fag FRTTL
UNIT - IT
(3eTE-10)
4. Obtain the radii of curvature of origin for the curve

a(y2 —xz')éx3 "

aw a(y® —x*)=x" % qe farg W ook e 9 Ffe |
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S. Find the asymptotes of the following curve :
(x+y)° (x+2y-2)=x+9y_2
71 =1k =t a7y wafitart s =ifrg

(x+y)2(x+2.y—2)-=x+9yA—2

UNIT - 101
(3=TE-111 )
6. Find by doubl¢ integration the area lying between x2 + ¥ =q?
and x +y = a- in the first quadrant.
TSEAhe ¥ 90 12 4 32 = 2 TGN x + y = a GRT YoH U1
q R 3¢ &5 =1 S5 39 HifSTE |
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7. Find the area common to the following circles = g+/2 and

r=2 cos 0.

ﬁmﬁwamﬁgmmﬁﬁq: |
p=qg-f2 AAr=2cos 0.

UNIT - IV

(FFE-IV)
8. Solve: (1+ch)%+2@=1“/1—:¢2 .
A HIC 2 (1+x2)%+2xy=x\/1—x2

9. Solve ysin2xdx—~(1+y2+coszx)dy=0.

TS BT ¢ ysi112xdx—(1+y2+coszx)dy=0.
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UNIT -V

(s=3-V)

10. Solve: p* —4xyp+8y” =0.
T T : p® —4xyp+8y°=0.

11. Solve: (D2 —4D+4)y=e2" +sin2x.

Tl HISY, 2 (D2—4D+4)y=e2’+sin2x,

PART - C
(=os-|)
UNIT -1

(s=s-1)

12. Expand the polynomial 5x3 4+ 7x2 + x — 1 in power of (x —2)

by Taylor's theorem.
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SSTH 2x3 + Tx2 + x — | ﬁ(x—@),ﬁ%%‘@ﬁéﬂ'{m e
SN farR =ifsy

UNIT - I

($=T3-11)

13. Shwo that the asymptotes of the cubic
x -2y3 +XYCx—y)+y(x—-y)+1=0

cut the curve again in three points which die on the straight

linex—y+1=0.

T =i for fiag =am 5 =2y’ + (2%~ )+ y(x— ) +1=0

%mwﬁw%ﬁqwm%mi@x-y+l=
feerg &

09X
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[m[n
[m+n"

14. Prove that : B(mn) =

Y]
1

s ®ifeg : B(mn) =

m+n"

UNIT - 1V

(F=H1E-1V )

2

xdy — ydx
15. Solve: xdx+ydy=a2{“J%—}
x“+y

dy — ydx
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UNIT -V

(SHE-V)

16. Solve: (D—-l)2 (D2 +1)2 y=sin2%+e" :

A SIS : (I)——l)2 (D2 +1)2 y=sin2%+e" 4
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